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?ﬁg TRZENOBHOEILNDKRES TRZEDHBEEILADKRES TREDBIDEHILADKES TREDHEBRSIENADKRES
= = [ 3 O\ & B S 3\ & | & = IE VS 5 I HN & F=
&5 X 4 .:né)f Timb(zf)ﬂﬁﬁﬁ 73(&3(3‘5 X 4 Thﬂ?éé;&)ﬁ;k? .(Er,n? 73(&3(3‘5 E 4 .(Er,n? J:jﬁﬁﬁ(:)d)tl:.a. ﬁﬁ?ﬁé B 4 J:jﬁﬁﬁ(:)d)tl:.a. Tn? 71(@3(;?)3*
; 100kN/M%E#B 2% - -~ -[3mEEZS -~ - -| 100kN/mMi%#8 2% - -~ | 3mERBAS ~ -
zh st 1.00 | 000 ~ 472 69.20 | Fn4 | 000 ~ 000 | 1.80 7.94 zhst 1.00 | 6.00 ~ 710 69.20 | =hs | 500 ~ 710 1.80 7.94
2 100kN/ Mm% Z % -~ -|3mEBZD -~ -] 100kN/M%E#BZ5 -~ -|3mEBAD ~
zh st 1.00 | 0.00 ~ 658 9829 | NS | 000 ~ 658|252 11.08 zhst 1.00 | 500 ~ 1358 98.29 | TnS | 5.00 ~ 13588 2562 11.08
3 100kN/M%E#B 2% ~ -[3mEEZS ~ -| 100kN/mMi%#8 2% ~ | 3mERBAS ~
zh st 1.00 | 000 ~ 635 94.46 | NS | 000 ~ 635|222 9.78 zhst 1.00 | 500 ~ 1145 94.46 | FhUS | 5,00 ~ 1145 222 9.78
4 100kN/ Mm% Z % ~ -|3mEBZD ~ -] 100kN/M%E#BZ5 ~ -|3mEBAD ~
zh st 1.00 | 0.00 ~ 565 83.31 | Fhus | 000 ~ 565|252 11.08 zhst 1.00 | 500 ~ 1040 83.31 | ThS | 5.00 ~ 1040 252 11.08
5 100kN/ Mm% Z % ~ -|3mEBZD ~ -] 100kN/M%E#BZ5 ~ -|3mEBAD ~
zh st 1.00 | 0.00 ~ 598 88.61 | Fhs (o000 ~ 598 221 9.74 zhst 1.00 | 500 ~ 1030 88.61 | #Fhs | 5,00 ~ 1030\ 221 9.74
6 100kN/ Mm% Z % ~ -|3mEBZD ~ -] 100kN/M%E#BZ5 ~ -|3mEBAD ~
zh st 1.00 | 0.00 ~ 599 88.76 | Fhus | 000 ~ 599 223 9.82 zhst 1.00 | 500 ~ 1030 88.76 | Fhs | 5,00 ~ 1030|223 9.82
- 100kN/ Mm% Z % ~ -|3mEBZD ~ -] 100kN/M%E#BZ5 ~ -|3mEBAD ~
zh st 1.00 | 0.00 ~ 398 5845 | Fn4S | 000 ~ 398 | 2.08 915 zhst 1.00 | 5.00 ~ 6.69 58.45 | TnS | 5.00 ~ 6.59 | 208 9.15
8 100kN/ Mm% Z % ~ -|3mEBZD ~ -] 100kN/M%E#BZ5 ~ -|3mEBAD ~
zh st 1.00 | 0.00 ~ 496 72.82 | Fhs | 000 ~ 496 | 1.93 8.51 zhst 1.00 | 5.00 ~ 7.90 72.82 | #hS | 5.00 ~ 790 | 1.93 851
9 100kN/ Mm% Z % ~ -|3mEBZD ~ -] 100kN/M%E#BZ5 ~ -|3mEBAD ~
zh st 1.00 | 0.00 ~ 333 49.45 | NS | 000 ~ 333 | 247 10.89 zhst 1.00 | 5.00 ~ 9.00 49.45 | =hs | 500 ~ 9.00| 247 10.89
10 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/mMi%E# 2% ~ | 3mERBAS ~
zh st 1.00 | 0.00 ~ 430 63.08 | NS | 000 ~ 430\ 216 9.48 zhst 1.00 | 5.00 ~ 7.90 63.08 | =hds | 500 ~ 790 | 216 9.48
17 100kN/ M%E#B 2% ~ -[3mEEBZS ~ -| 100kN/mMi%E# 2% ~ | 3mERBAS ~
zh st 1.00 | 0.00 ~ 567 83.76 | Fhus | 0oo ~ 000 1.85 816 zhst 1.00 | 5.00 ~ 9.41 83.76 | TnLS | 500 ~ 9.41 | 1.85 816
19 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/mMi%E#8 2% ~ | 3mERBAS ~
zh st 1.00 | 000 ~ 557 8213 | Fhs | 0oo ~ 000 1.79 7.89 zhst 1.00 | 5.00 ~ 9.13 8213 | Thbs | 500 ~ 913 | 1.79 7.89
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/ Mm% 25 ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/ Mm% 25 ~ ImEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B A% ~ 3ImEBRD ~ 100kN/ Mm% 25 ~ ImEBAS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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